Division par 1 000 (E)

Trouvez chaque quotient.

5+1000= 85-+1000=
81+1000= 98 - 1000 =
49 +-1000 = 84 +1000=
96 +-1000 = 52-+1000=
51+1000= 76 +-1000 =
68+ 1000 = 24 +-1000=
55+1000= 25+1000=
95 +1000= 49 +-1000 =
68 +~1000 = 40 +-1000 =
35+1000= 25-+1000=
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Division par 1 000 (E) Solutions

5-+1000=0,005

81 +1000=0,081

49 =-1000= 0,049

96 = 1000 =0,096

51-+1000=0,051

68 =~ 1000 =0,068

55-+1000=0,055

95 +1000=0,095

68 -1 000 =0,068

35+1000=0,035

Trouvez chaque quotient.

85 -+1000=0,085

98 =-1000=0,098

84 +1000=0,084

52 +1000=0,052

76 =1000=0,076

24 +1000=0,024

25-+1000=0,025

49 -1 000 = 0,049

40 +-1000=0,04

25-+1000=0,025
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